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 � ��� �� ��������� !"
 #$%& 'kg/10a(  )*+, -./ -01

     23456$  
kg/10a 78  %$  9$  :;  t/10a  
540<600 => 5< 8 2 7<10  ?@AB

 CDE  5<10 0 5<10 0<1 F
1.9mmGHI JC 6<10 2 8<12  

      
450<550 => 4< 6 2 6< 8  6KLMN 'OPQR(  CDE  5<10 0 5<10 0<1 F
1.9mmGHI JC 6<10 2 8<12  

      
550<600 => 5< 6 2 7< 8  6KLMN 'ST(  CDE  5<10 0 5<10 0<1 F
1.9mmGHI JC 6<10 2 8<12  

      
600<650 => 5< 7 2 7< 9  UV5NWX  CDE  5<10 0 5<10 0<1 F
1.85mmGHI JC 6<10 2 8<12  

      
540<600 => 6< 8 2 8<10  Y4ZB[\  CDE  5<10 0 5<10 0<1 F
1.9mmGHI JC 6<10 2 8<12  

      

600 => 4< 6 2 6< 8  ]^_`a
 CDE  5<10 0 5<10 0<1 F

1.7mmGHI JC 6<10 2 8<12  

      

650 => 3< 6 2 5< 8  bbcde
 CDE  5<10 0 5<10 0<1 F

1.7mmGHI JC 6<10 2 8<12  

      

540 => 4< 7 2 6< 9  fghij
 CDE  5<10 0 5<10 0<1 F

1.9mmGHI JC 6<10 2 8<12  
      

 



 40

 ���� �� ��������0 1   #$%& 'kg/10a(  � 
  = >   234 0� !"
  %  $  �

 �
 �
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 :;  C D
 E
 

J C 56$
t/10a kg/10a 
�  �� ������_�

450 - 4<6 2 0 0 0 6< 8 10<15 10 1.5<2 �D����
420 � 4<6 0 2 0 0 6< 8 10<20 10<12 1.5<2 ��
 �  4<6 2 2 (2) 0 8<10 10<20 10<12   �C!d 420 � 4<6 0 2 0 0 6< 8 10<20 10<12 1.5<2 
 �  4<6 2 2 0 0 8<10 10<20 10<12  �"e���

420 � 4<6 0<2 2 0 0 6<10 10<20 10<12 1.5<2 
 �  4<6 2<3 2<4 (2) 0 8<13 10<20 10<12  #VX?$

420 � 4<6 0<2 0 0 2<4 6<12 10<20 10<12 1.5<2 
 �  4<6 4<6 0 0 4<6 12<18 10<20 10<12  %&'X?$

420 - 4<6 2<6 �
9$gBL 4 10<16 10<20 10<12 1.5<2 
 � ��( )* ��������

    #$%& 'kg/10a(     0�
 

0 1
 

� 
 !"
 

  C D
 E
 

J C 234 56$'t/10a(    +�,-  => 
  kg/10a  %$  9$ *    

 
�D�d.^

 270 /01V23 QR4 5
(2<)4 Q64 5
2<4 Q74 5
2(<4) - 10<15 8<10 1.5<2 

 
d8�C8� 270 /01V23 - 10<15 8<10 1.5<2 

 C8�9� 270 /01V23 - 10<15 8<10 1.5<2 �:
 ;<='? 240 /01V23 - 10<15 8<10 1.5<2 

 >?@4 240 /01V23 - 10<15 8<10 1.5<2 
 
��A

** 240 /01V23 - 10<15 8<10 1.5<2 
 
74BC

 240 /01V23 - 10<15 8<10 1.5<2 
* 

�:'9$A%DEFAGKH6I5JBKLMN'OMPQB@RH6S:HYTAK UV*W<XY
'=>9$ZG [I  
** 

��A'=>#$"%$"A\01'2<3]^g;_I  
 � ��` a* bcd� ��������� 

 #$%& 'kg/10a(     0� 0 1 !"
  C D

 E
 

J C 234 
 => 56$  

kg/10a %$  9$  :;  t/10a �: ecf��!D 180 3<5 - 3<5 10<15 8<10 1.5<2 gh�ij
    10<15 8<10  kl ghmn

100 2<4 - 2<4 10<15 8<10 1.5<2 opqDb� ^ed�rc8�o�sJ 130 0 - 0 10<15 8<10 1.5<2 t u�� Ag#5? 400 
v  wxy
 

5 11z{  10<15 8<10 1.5<2 ]| }~��
(�)K��  ��[M�K�l\MN2� 350 3<4 1<2 4<6 10<15 8<10 1.5<2 o� ��

10K�'�  #6NP� 250 3<4 1<2 4<6 10<15 8<10 1.5<2 e� ��
16K��r fhNP� 250 3<4 - 3<4 10<15 8<10 1.5<2 
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������ �� �������� ������ b����	
�� !"
 #$%& 'kg/10a(  0� )*+, -./

 �� => CDE  JC 23456$  
kg/10a     t/10a V
[\ #�)* 12,000 %$  15 30 15 4 't����7( 9$  25 0 15  :;  40 30 30  �
)* 8,000 %$  15 30 15 4 '�
��( 9$  25 0 15  :;  40 30 30  upu ��@��)*

9,000 %$  12 30 12 4 9$  18 0 18  :;  30 30 30  t����7)* 7,000 %$  15 25 15 4 9$  12 0 12  :;  27 25 27  �c ��@��)*
6,000 %$  12 30 12 4 upu 9$  18 0 18  :;  30 30 30  ��pD ��@t��)*
8,000 %$  15 30 15 4 9$  18 0 15  :;  33 30 30  �
)* 5,000 %$  15 30 15 4 9$  15 0 15  :;  30 30 30  6X� t��)*
2,500 %$  13 17 13 3 9$  6 0 6  :;  19 17 19  �
)* 1,500 %$  11 17 11 3 9$  6 0 6  :;  17 17 17  H; t��W5A 7,000 %$  15 25 15 4 uD �)* 9$  15 0 15  :;  30 25 30  ;6? uD �)*
5,000 %$  10 15 10 2 'p�a( 9$  5 0 5  :;  15 15 15  ^.D uD �)*
2,500 %$  10 15 15 2 9$  0 0 0  :;  10 15 15  t��)*
4,000 %$  10 15 15 2 9$  0 0 0  :;  10 15 15  �LF4�4 �WVm	B)* 3,000 %$  15 20 15 2 9$  8 0 8  :;  23 20 23  J6N4 ��
�Y\)* 4,000 %$  5 15 5 2 9$  0 0 0  :;  5 15 5  C
�Y\)* 5,000 %$  8 15 8 2 9$  0 0 0  :;  8 15 8  �i[ �WV)* 2,000 %$  13 20 15 2 9$  5 0 3  :;  18 20 18  HP6� ��)*
3,000 %$  7 25 7 3 9$  15 0 15  :;  22 25 22  
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������ �� �������� ������ b����	
�
 

� !"
 #$%& 'kg/10a(  0� )*+, -./

  ��    23456$  
 kg/10a  => CDE  JC t/10a �g6� p�aW5A�
 1,200 %$  14 30 16 3 

 9$  6 0 6  
 :;  20 30 22  lj6B� ��)*

 3,000 %$  7 15 10 2 
 9$  3 0 5  

 :;  10 15 15  F4F@ ��)*
 1,000 %$  15 25 15 3 

 9$  10 0 10  

 :;  25 25 25  5W�� �WV)* 5,000 %$ 15 30 15 2 9$ 0 0 0  :; 15 30 15  �WV)*
6,000 %$ 15 30 15 2 9$ 10 0 10  :; 25 30 25  e�e� ��Y\)*

 4,500 %$  12 20 10 2 
 9$  6 0 6  

 :;  18 20 16  ��Y\)*
 4,500 %$  10 20 10 2 

 9$  6 0 6  
 :;  16 20 16  A@�6 �Y\)*

 4,500 %$  12 20 12 2 
 9$  6 0 6  

 :;  18 20 18  ��� CS����Y\)*  3,000 %$  12 20 12 2 
 9$  0 0 0  

 :;  12 20 12  ��
�����  3,000 %$  12 20 12 2 Y\)*
 9$  0 0 0  

 :;  12 20 12  �Y\)*
 3,000 %$  10 20 10 2 

 9$  0 0 0  

 :;  10 20 10  �	
�����Y\)*
 2,000 %$  10 18 10 2 

 9$  0 0 0  

 :;  10 18 10  �C�Do��
)* �
�
 0 %$'3 10 10 10 3 �q��

2
��

 100 %$  15 15 15 3 
 9$  3 0 3  

 :;  18 15 18  
3
��

 300 %$  18 18 18 3 

 9$  3 0 3  
 :;  21 18 21  

4
����

 500 %$  18 18 18 3 

 9$  7 0 7  
 :;  25 18 25  �7)*  300 %$'3 30 15 20 5 =[j4k[t��)* 1

.�
 1,000 1

.�
 9 13 9 4 

2
.�

 900 2
.�

 7 7 7 0 
3
.�

 600 3
.�

 4 4 4 0 
4
.�

 750 4
.�

 0 0 0 0 �.��C���)*  700 %$  15 20 15 2 
 9$  8 0 8  

 :;  23 20 23  
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�����( �� �������� ������ b����	
�� !"
 #$%& 'kg/10a(  0� )*+, -./

 ��    23456$  
kg/10a  => CDE  JC t/10a JC�q�� �WV)*  2,000 %$  15 20 15 2 

 9$  8 0 8  
 :;  23 20 23  3�l �\3�l

600 %$  10 15 10 3 9$  5 0 5  :;  15 15 15  L3�l
1,500 %$  10 15 10 3 9$  5 0 5  :;  15 15 15  B
4�@ t��)*
2,000 %$  15 15 15 2 9$  0 0 0  :;  15 15 15  F$ �
)* %$  15 30 15 3 �
�

0 9$  15 0 15  :;  30 30 30  �����
6,000 %$  10 10 10 2 9$  17 0 17  :;  27 10 27  �� �Y\��D��� 3,000 %$  8 20 8 2 9$  15 0 15  :;  23 20 23  3�[P �
)* �
�

0 %$  10 20 10 2 9$  10 0 10  :;  20 20 20  �����
700<800 %$  10 15 12 0 9$  3 0 3  :;  13 15 15  ��64�4 ��)* %$  12 20 12 2 �_U\ 1,500 9$  10 0 10  �_HB 1,000 :;  22 20 22  ���4Y[�WV)* 800 %$  12 20 12 2 9$  10 0 10  :;  22 20 22  �WV)*

500 %$  6 20 6 2 9$  10 0 10  :;  16 20 16  �JWh mnK6n 600 %$  6 20 10 2 'p�a)*( 9$  0 0 0  :;  6 20 10  	n �
p�a)*( 800 %$  3 20 10 2 9$  3 0 0  :;  6 20 10  ���u p�a�WV
1,500 %$  15 20 15 2 ��D 9$  5 0 5  :;  20 20 20  �
� �
��)* 800 %$  12 20 12 2 9$  6 0 6  :;  18 20 18  [Y ��7 1,200 %$  7 15 7 3 9$  8 0 8  :;  15 15 15  
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�����` �� �������� ������ b����	
�
 

� !"
 #$%& 'kg/10a(  0� )*+, -./

  ��    23456$  
 kg/10a  => CDE  JC t/10a �3�P� �
)* 0 %$  15 15 15 6 �
� 9$  0 0 0  :;  15 15 15  �����

1,000 %$  5 5 5 0 9$  8 8 8  :;  13 13 13  ?iX[ ��)*
 2,000 %$  10 19 10 1.5 

  9$  4 0 4  

  :;  14 19 14  HlH t��)*
 900< %$  12 19 12 2 

 1,500 9$  3 0 3  
 :;  15 19 15  3<H t��)*

1
.�

 1,000 1
.�

 15 15 12 2 
2
.�

 1,000 2
.�

 9 9 9 0 
3
.�

 1,000 3
.�

 5 5 5 0 
4
.�

 1,000 4
.�

 3 3 3 0 K�� �c����)*
 

L�
600+ 1,500 

#$HB - - - 0 ����
�)*
 ��
 
	�
 0


	

 12 12 12 3 

2
��

 0 2
��

 12 8 14 0 

3
��

 

L�
200+ 1,500 

3
��

 7 4 8 0 [_6 ��)* 
	�
 0 %$'3 10 10 10 3 

2
����

 
2,000< 
3,000 

%$'3 10 10 10 0 
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 ������ �� �������� ������ b����	
�
 

� !"
 #$%& 'kg/10a(  0� )*+, -./

  ��    23456$  
 D /10a  => CDE  JC t/10a \4Y[ �
�

 0 %$'3 10 20 8 4 �mn<	n  0<5,000 %$  12 12 12 1 
2
��

 9$  8 0 8  

 :;  20 12 20  �mn<	n  35,000 %$  12 12 12 1 
3
����

 9$  8 0 8  
 :;  20 12 20  �	n

 0<5,000 %$  10 10 10 1 
2
��

 9$  5 0 5  

 :;  15 10 15  �	n
 35,000 %$  10 10 10 1 

3
����

 9$  5 0 5  

 :;  15 10 15  V@ ���@ 't��)*( 35,000 %$  14 15 14 3 

 9$  6 0 6  
 :;  20 15 20  ��@ '�
)*(  35,000 %$  12 12 12 2 
 9$  0 0 0  

 :;  12 12 12  ������
 45,000 %$  10 10 10 3 't��)*(  9$  2 0 2  

 :;  12 10 12  #\ o	os
��
 30,000< %$  20 20 20 3 t��C�� 35,000 9$  10 10 10  '�
��t��(  :;  30 30 30  
C|D��  14,000< %$  20 20 20 3 t��C�� 25,000 9$  10 10 10  't��)*(  :;  30 30 30  dDs���"C 20,000< %$  15 25 15 3 '�
)*(  25,000 9$  10 0 10  

 :;  25 25 25  
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������ ��� �������� ������ b����	
�� !"
  #$%& 'kg/10a(  0� )*+, -./

 +�,-  ��    23456$  D /10a   => CDE  JC t/10a u�� t��)*
30,000 /+�X	B %$  10 10 10 3 �e��

 9$  0 0 0  
 :;  10 10 10  ���a� - ��n �t��)* �

60,000 /+�X	B %$  6 9 6 3 d�o��
 9$  2 0 2  

 :;  8 9 8  t��C�� �L� ����)*( 20,000 /+�X	B %$  15 15 15 3 -���a�
 9$  4 2 3  

 :;  19 17 18  �u�� t��)*
25,000 /+�X	B %$  15 15 15 3 

 9$  3 0 3  
 :;  18 15 18  J� � t��)*

10,000 /+�X	B %$  20 20 20 3 d�D
 9$  40 15 32  

 :;  60 36 52  �q	
q� �t��)*�
22,000  %$  6 9 6 2.5 <25,000  9$  3 0 3  

 :;  9 9 9  �L �B	
�

10,000 /+�X	B %$  15 15 15 3 ?;3k[  9$  0 0 0  

 :;  15 15 15  ��

�

10,000 /+�X	B %$  6 6 6 0 

 9$  0 0 0  

 :;  6 6 6  ���
 ��
������ 7,000 /+�X	B %$  15 15 15 3 c��
 9$  4 2 3  

 :;  19 17 18  
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 ���� �� �������� � !"
 #$%& 'kg/10a(  0� )*+, -./ -01�

 ���  =>   �
/10a %$ 9$ :; CDE JC\4� 
�3� 3600 15

���
7 3 10 4 8��� �P_K3�Kk'\ 3600 15

���
10 5 15 6 12\4� �4�KV	[K�P_ 1< 2� 3 0 3 1< 2 2K6�� 
6KLK	��!�� � 4000 3< 4� 5 0 5 2 3< 4��Kd�_!�� �K  5< 7� 7 3 10 3< 4 7< 83�  8

�<  10 5 15 4<6 10<12
Y[ ����������
2400 1< 3� 1< 2 1< 2 2< 4 2 2

4< 5� 4< 6 2< 3 6< 9 2< 5
5<10
10<12 2< 5�q�|o

1800 6< 7� 8<10 4< 5 12<15 10<13bc���	8
8
�<  10 5 15 13<18

1< 3� 0 0 0 0 0
�: 1200 4< 5� 2< 3 1< 2 3< 5 1< 4 3< 5
6< 7� 4< 6 2 6< 8 3< 6 6< 9
8
�<  6 2 8 6 9��HB q -�qD�

3000 1< 3� 3 3 6 2< 3 4< 5��� ��u��u
4< 5� 5 3 8 3 5< 6
6< 7� 7 3 10 3< 4 7< 8
8
�<  10 5 15 4<6 10<12q -�qD�

3000 1< 3� 3 0 3 1< 2 2K6�� ��u��u
4< 5� 5 0 5 2 3< 4
6< 7� 7 5 12 3< 4 7< 8
8
�<  10 7 17 4< 6 10<12[h ��� 600 1< 3� 3 0 3 1< 2 2< 3��

4< 5� 4< 5 1< 2 6 3 4< 5
6< 7� 7< 8 2< 3 10 5 8
8< 9� 8<10 2< 4 12 6 9<10
10<13� 10<11 3< 4 14 7 11<12
14
�<  14<16 4< 6 20 10 16�� ���

4000 2< 3� 5 3 8 3 6< 7��

4< 5� 7 3 10 3< 4 7< 8

2000 6< 7� 8 4 12 4< 5 9<10n�

8
�<  10 5 15 5< 6 11<12	[g[ �� 

600 2< 4� 6 0 6 2 4< 5���
D
5< 9� 8 0 8 3 6< 7
10<14� 10 0 10 3< 4 7< 8
15
�<  15 0 15 5< 6 11<12!\4�K6��'#$"A"##$'S: '�$%#$'S:A�"g;_(  
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 ���� ���� �������� #$* � !" ����
* #$%& 'kg/10a(0� �8 �
 => CDE JC �� 234�

/10a    56$  m�\
�	 m� 3,000 (600) 10  5 10 100 3,000
 ����
1,500 (300) 5  2.5 5  
���
1,500 (300) 5  2.5 5  � � ��\
�	 m� 3,000 '600(  5  2.5 5 100 3,000����
1,500 (300) 5  2.5 5  
 
���
1,500 (300) 5  2.5 5  � o�������	 m� 3,000 '600(  4< 5  5< 6 5< 8 100 3,000����
1,500 (300) 4< 5  5< 6 5< 8  
���
1,500 (300) 4< 5  5< 6 5< 8  
���
�
 m� 3,000 (600) 10 5 10 100 3,000����
1,000 (200) 5 2.5 5��
 m� - 6 3 3 �W 1.5 3,000�


- 6 3 3 �W 1.5 g[ � �mn
6,000 (1,800) 15 12 10 - 3,000�� � mn
6,500 (2,000) 15 12 10 - 3,000NB 0 6n
7,000 (2,200) 15 12 10 - 3,0001 	n
7,500 (2,300) 15 12 10 - 3,000�� ����K��K��K�����������
6,000 (1,500) 10 12 10 - 3,000�� ��K�� 9,000 (1,800) 10 12 10 - 3,000� �!��"�# � �K$��e����%�� 6,000 (1,200) 5 12 10 - 3,000q�� �&���'�K'#'()��
5,000 (1,000) 8+3 10 8 - 2,500�� *4@6+�K�"e

�� - 8+3 10 8 - 2,500f� ,f�

- 8+3 10 8 - 2,500�4� - 10 12 10 - 2,500
*
UV�\-\�FA#$AGKH6I  

** 

�
A 3 .K
���
�
F�6LA 2 .�\-_
/T� !"Z08B5I  

 

 


